190 responses

Summary See complete responses Paper —| code Y

Question 1
Option A 30 16%
Option C [63] opton & vy oo
—— Opticn D [16] Option C 63 33%
Option D 16 8%
Option A [30]
Option B [29]
Question 2
Option C [22] Option A 65 34%
[
— Dption D [35] Option B 24 13%
- N'-‘\ Option C 22 12%
Opiion B [24]—3 i, Option D 35 18%

Option A [65]



Question 3

Option G [78]
—Option D [16]

Option A 18]

Option B [27]

Question 4

—Option D [55]

Option G [15]—

Opticn A [27]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

27
76

27
38
15
55

10%
14%
40%

8%

14%
20%

8%
29%



Question 5

~——{pticn O [39]

Option C [29]

Option A (23]

Option B [36]

Question 6

Option C [48] —Opticn O [24]

Option A §20]

Option B {27]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

23
36
29
39

20
27
48
24

12%
19%
15%
21%

11%
14%
25%
13%



Question 7

Option A [87]

Question 8

Opticn G [14] ———

Option B |

Opticn

—— Opior

D [38]

A 29

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

97
31
9
5

29
50

38

51%
16%
5%
3%

15%
26%
7%

20%



Question 9

Option C [47]

Option B [22}

Question 10

Option C 14—

Opticn B [73j———

— Option D'[11]

Cption A [26]

Option D [35]

Opticn A {17]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

26
22
47

14%
12%
25%

6%

9%
38%
7%
20%



Question 11

Option C [33] —————,

—Opticn D [15]

Option B [37]

Opticn A [38]

Question 12

— Opticn D [53]

Option G [4]

Cption B [43]

DOption A [38]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

38 20%
37 19%
33 17%
15 8%

38 20%
43 23%

4 2%
53 28%



Question 13

— Option D [63]

Option C [24] —

= B 1151 Opticn A [38]
Opton 15]

Question 14

Option D [118] ——

W—Dp?-m- A [8]

—Oplion B [7]

—— Option C [10]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

38 20%
15 8%
24 13%
65 34%

8 4%

7 4%
10 5%
118 62%



Question 15

Option C [108] — Option D [10]

Option A [11]

Option B [13]

Question 16

——— Option C [37]

— Opicn D [6]
Opfion A [10]

Opption B [89]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

11

89
37
6

6%
7%
57%
5%

5%
47%
19%

3%



Question 17

Option D [89]

Cption C 13—

Question 18

Dption  [6] \

Option B [25]

‘_Dpiil}l'l A [8]

Dption B [28]

— Opticn D [55]

QOpticn A [55]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

8
28

89

55
25

55

4%
15%
7%
47%

29%
13%

3%
29%



Question 19

Option D [78] —— .

Opticn A [17]

Option C [21
P [21] Opticn B [18]

Question 20

Option B [16]

~—Option C [17]

=—{Qpticn O [5]

Opfion A [95]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

9%
9%
11%
41%

51%
8%
9%
3%



Question 21

Option C [23]

Option B [41] — Option D [8]

Option A [43]

Question 22

Option G [49] — ~— Opticn D [28]

—— Option A [22]

Option B (30} ———————

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

43
a1
23

8

22
30
49
26

23%
22%
12%

4%

12%
16%
26%
14%



Question 23

Opticn D [98]

Question 24

Option C[17]

Opticn B [17]

‘—men AT14]

QOpticn B [12]

M Option C [15]

—Qpticn D [32]

Dption A [682]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

7%
6%
8%
52%

33%
9%
9%

17%



Question 25

Option G [39]

“—Opticn O [21]

Option A [15]

Cpticn B [56]

Question 26

Option B [22]

~— Ophion C [15]

— Opiion D [1]

Option A [98]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

19
56
39
21

98
22
15

1

10%
29%
21%
11%

52%
12%
8%
1%



Question 27

Option A [96]

Question 28

Cption B [114]—

Option B[17]

Option G [14]

— Opticn D [8]

— Opticn G [9]
— QOption D [2]
— Option A [B]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

8
114
9
2

51%
9%
7%
4%

4%
60%
5%
1%



Question 29

Option C [100]

Question 30

QOption D [72] ————

Option G [11]

Option B [15]

— Option D (]
J— Option A [4]

Option B [16]

Option A [32]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

4
16
100
9

2%
8%
53%
5%

17%
8%
6%

38%



Question 31

Opticn D [88] ———
Option C [14]
Question 32
Option C [111]—

Option A [25]

Option B [4]

—Opficn D [11]

e () tinn A (2]

— Option B [16]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

25

88

2
16
111
11

13%
2%
7%

46%

1%
8%
58%
6%



Question 33

Opticn C [t4]

— Dption D [27]

Opticn B {37]

Option A [35]

Question 34

—Option D [52]

Option C [14]—

—— Option A 221

Ciption B (28] ——

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

35
37

27

22
39

52

18%
19%
7%

14%

12%
21%

%
27%



Question 35

____————Option C [35]

i v

. - —{ption D [9]
Option B [24]

Option A [48]

Question 36

Optien © [72] ————

Opton A [18]
Opticn G [24]

Opticn B [16]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

48
24
35

9

19
16
24
72

25%
13%
18%

5%

10%

8%
13%
38%



Question 37

Ciption O [75] ———

Cption C [13]——

Opticn B [15]

Question 38

Option G [118]—

Option A [32]

— Dpticn D [8]
e — Option A [4]

~—— Qption B [10]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

4
10
118
8

17%
8%
7%

39%

2%
5%
62%
4%



Question 39

Cption G [15]
— QOption D [7]

Option A [7]
Opton B [111]

Question 40

—Ophien G [43]

Option B (8] ——

—Opticn D [5]

Option & [75]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

7

4%

111 58%

15
7

8%
4%

75 39%

8

4%

45 24%

5

3%



Question 41

" Option A 17 9%
7

i ~— Option D [31] Option B 29 15%
Opticn C [38] —_7}. . | Option C 38 20%
{ ol Option D 31 16%

L Option A [17]

Option B [29]
Question 42
Option G [26] Option A 32 17%
Option B 26 14%
: . Option C 26 14%
— Qption D [9]

Option D 9 5%

Cpficn B [26]

Option A [32]



Question 43

Option B {12

Option A [84]

Question 44

Opticn G [21]———

Option B [43]

Opticn G [28]

— Qpticn D [7]

— QOpton D [27]

Option A [25]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

84
12
28

7

35
43
21
27

44%
6%
15%

4%

18%
23%
11%

14%



Question 45

Opticn G [25]

~— Option D [19]

Option B [34]
Opticn A [27]

Question 46

Optign C [35] ——

— Opton D [20]

k= H
N y
N '?‘—Dpfinn A[14]
5

Cption B [51]——

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

27
34
25
19

51
35
20

14%
18%
13%
10%

7%
27%
18%
11%



Question 47

Option C [41]—

:___} — Option D [11]

Option B [18] G P
phon A [30]

Question 48

Option G [41]

—{pticn D [4]

Option B [36]

Opton A [32]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

32
36
41

4

16%
9%
22%
6%

17%
19%
22%

2%



Question 49

Question 50

Option C [70]—

Dption C [22]

— Opticn D [&]

Option & §29]

— Qptiocn D [31]

wopiann A [8]

—Qpticn B [15]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

29
33
22

6

8

70
31

15%
17%
12%

3%

4%
8%
37%
16%



Question 51

Dption  [8]

— Dption D [23]

Oplicn B [39]

Option A [35]

Question 52

Option G 13—
—Opticn D [19]

Cpticn B [22]—

—— Oplion A [37)

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

35
39

23

18%
21%

4%
12%

19%
12%

7%
10%



Question 53

Option C [20) —
{ ~—Opficn D [15]

Option B [18]
Option A [20]

Question 54

Option B [10]

DOption C [20]

—QOpticn D [4]

Option A [68]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

68
10
20

4

11%
9%
11%
8%

36%
5%
11%
2%



Question 55

Option C [16]

Option B {249]

Question 56

Option & [87] —

~— Dpticn D [22]

Option A [2E6]

—QOplion D [11]

A Option B[19]

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

26
29

22

14%
15%

8%
12%

6%
10%
46%

6%



Question 57

Option C (6]

—Option D [25]

Opticn A [51

Option B (90}

Question 58

_ J —{Jplion C [8]
Cpticn B[111]— ,‘q___._ﬂ—{jp‘::on D[t
. .'J’—Dpii[:-n Af121

oy

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

5 3%
90 47%
6 3%
25 13%
12 6%
111 58%
8 4%

1 1%



Question 59

—— Option D [22]

Ciptien G [49]

Option & [14]

Option B [13]

Question 60

——Option D [17]

Option C [117] Option A [7]

Option B 3}

Option A
Option B
Option C
Option D

Option A
Option B
Option C
Option D

7

3
117
17

7%
7%
26%
12%

4%
2%
62%
9%



